YO IR

TUIR

YO HACER

YO VENIR

YO CENAR

TU MORIR
USTED VER

YO HABLAR
USTED DAR
USTED SALIR
USTED BEBER
USTED TENER
YO DORMIRSE
USTED TOMAR
USTED DECIR
USTED BAJAR
USTED HABLAR
USTED SENTIR
USTEDES VENIR

USTEDES DECIR
USTED OCURRIR
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YO DAR

USTED IR

YO MORIR

YO BAJAR

YO LLOVER

TU HACER
USTED VER

YO QUERER

YO OCURRIR
USTED TEMER
USTED PAGAR
USTED VENIR
USTED SABER
USTED DECIR
TU OCURRIR
USTED SALIR
USTED LLOVER
NOSOTROS VER
USTEDES BEBER
USTEDES PAGAR
USTEDES QUERER
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preterite vs imperfect
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YO VER

YO TENER

YO PEDIR

YO BEBER

TU JUGAR

YO LLEVAR

TU NACER

YO SENTIR
USTED TOMAR

USTED HACER
USTED PODER
USTED CENAR
YO DUCHARSE
USTED PEDIR
USTED DEBER
YO DESCRIBIR
USTED LLOVER
USTED HABLAR
USTEDES TEMER
USTEDES PONER
NOSOTROS TENER



NOSOTROS BAJAR



NOSOTROS BEBER



TU DESPERTARSE



Solution
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